Total No. of Printed Pages—4 -

6 SEM TDC SOCH (CBCS) C13

2022
( June/July )

SOCIOLOGY
( Core )

Paper : C-13
( Sociclogical Thinkers—II )

Full Marks : 80
Pass Marks : 32

Time : 3 hours
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1. Choose the correct answer from the
following : 1x8=8

(a) Who gives the concept of ‘AGIL model’?
(i) Talcott Parsons |
(i) Max Weber
(iij) M. N. Srinivas

{iv) Cooley
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(b)

(c)

(@)

(e)
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(2)

Who is the author of the book, Mind,
Self and Society?

(i) G. H. Mead
(i) Karl Marx
(iii) Pareto

Binary opposition was a concept
given by

(i) Simmel

(i) Levi Strauss

(iii) Comte

Who is the author of the book, Dialectic
of Enlightenment?

(i Max Horkheimer

(y Max Weber

(iii) Coser

‘Habitus’ is a concept given by
(i Adorno

(iij Bourdieu

(iii) Irawati Karve

(iv) Talcott Parsons

Name the sociologist who belongs to
Frankfurt School.

(i) Horkheimer
(i) Goffman
(i) Luckmann

( Continued )

(9)

)

(3)

Which term was used. by Parsons to
assert that society tends to reach a state
of stability or balance?

(i) Charisma
(i) Equilibrium i
(iii) Status quo
Erving Goffman’s famous approach is
(i) Verstehen

(i) Dramaturgical approach

(iii) Macrosociology

2. Write short notes on any four of the following
(within 150 words) : 4x4=16

(@)
(b)
()
(@)
(e)

-

Talcott Parsons’ action system
Alliance theory

Pattern variable

Social construction of reality
Meaning of AGIL model

3. Answer any four (within 500 words each)
from the following questions : 14x4=56

(a)

(b)
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Discuss the concept of symbolic
interactionism given by G. H. Mead.

What is Bourdieu’s theory of practice?
Discuss.
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(4)

() Which analytical view is presented by
Levi Strauss? What is the essence of
culture for him? 4+10=14

(d) Critically examine the social
construction of reality.

(e} Discuss Max Horkheimer’s critical
theory on cultural industry.

(/) What do you mean by functionalism?
Discuss various sociologists’ point of
view on functionalism. 4+10=14
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